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DI table Chart Questions for IBPS PO Pre, SBI PO Pre, IBPS Clerk 

Mains, SBI Clerk Mains and LIC AAO Pre Exams. 
DI Table Chart No. 129 
 

Directions: Study the following table chart carefully and answer the questions given beside. 
 

The table given below shows the total population of the five different cities, the ratio of the 
male to female population and the percentage of the literate population. 
 

Cities Total population Male : Female Percentage of the literate population 

A 525 4 : 3 60% 

B 640 5 : 3 75% 

C 600 5 : 7 72% 

D 720 5 : 4 65% 

E 540 8 : 7 70% 
 

1. The literate population in city C is how much percentage more than the male 
population in city D? 

A. 15%   B. 12%   C. 8%   D. 20%   E. 5% 
 

2. Find the average of the female population in city A, B and E together. 

A. 239   B. 252   C. 228   D. 215   E. 266 
 

3. If the ratio of the male to female literate population in city B is 8 : 7, find the female 
illiterate population in city B. 

A. 24   B. 16   C. 30   D. 28   E. 20 
 

4. What is the sum of the illiterate population in city D and E together? 

A. 488   B. 456   C. 524   D. 414   E. 502 
 

5.  What is the difference between the total population in city A and C together and the 
total population in city B and E together? 

A. 75   B. 40   C. 55   D. 60   E. 85 
 
Correct Answers: 

1 2 3 4 5 

C A B D C 

 



 

 

Explanations : 
 
1.   The literate population in city C = 600 × 72% = 432 
 

The male population in city D =  
720 × 5 

 = 400 
9 

 
Difference = 432 – 400 = 32 
 

Percentage more =  
32 

 × 100 = 8% 
400 

 
Hence, option C is correct. 

 
 

2.  

Female population in city A =  
525 × 3 

 = 225 
7 

 

Female population in city B =  
640 × 3 

 = 240 
8 

 

Female population in city E =  
540 × 7 

 = 252 
15 

 

Average =  
225 + 240 + 252 

 =  
717 

 = 239 
3 3 

 
Hence, option A is correct. 

 
 

3. Literate population in city B = 640 × 75% = 480 
 

Male literate population in city B =  
480 × 8 

 = 256 
15 

 

Female literate population in city B =  
480 × 7 

 = 224 
15 

 

 Male population in city B =  
640 × 5 

 = 400 
8 

 

Female population in city B =  
640 × 3 

 = 240 
8 

 

Female illiterate in city B = 240 – 224 = 16 
 

Hence, option B is correct. 



 

 

4.   Illiterate population in city D = 720 × 35% = 252 
  

Illiterate population in city E = 540 × 30% = 162 
  
Required total population = 252 + 162 = 414 
  
Hence, option D is correct. 

 
 

5. Total population in city A and C together = 525 + 600 = 1125 
  

Total population in city B and E together = 640 + 540 = 1180 
  
Required difference = 1180 – 1125 = 55 
  
Hence, option C is correct.  
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